48" [1219mm]

= =S

—

[51mm, 76mm, 101mm, 127mm,
152mm, 203mm, 254mm & 279mm]

PANEL THICKNESSES AVAILABLE:
2", 3" 4", 5", 6", 8", 10" & 11"

e — < I —

KOROLITE INSULATED METAL PANELS CUT TO CUSTOM LENGTHS PER APPROVED DESIGNS.
PANELS' FACINGS ARE PRE-PAINTED, AZ50 ALUMINUM-ZINC COATED OR G90 GALVANIZED STEEL

IN 26 GA. [0.55mm]

BONDED TO THE CLOSED CELL EPS INSULATION CORE WITH A SPECIALLY FORMULATED ADHESIVE.

v

1 INSULATED METAL PANEL

OPTION 1

45.75" [1162mm]

== =S

-

[51mm, 76mm, 101mm, 127mm,
152mm, 203mm, 254mm & 279mm]

PANEL THICKNESSES AVAILABLE:
2", 3" 4", 5", 6" 8", 10" & 11"

e — 1 ——

KOROLITE INSULATED METAL PANELS CUT TO CUSTOM LENGTHS PER APPROVED DESIGNS.
PANELS' FACINGS ARE PRE-PAINTED, AZ50 ALUMINUM-ZINC COATED OR G90 GALVANIZED STEEL

IN 26 GA. [0.55mm] OR 24 GA. [0.70mm]

BONDED TO THE CLOSED CELL EPS INSULATION CORE WITH A SPECIALLY FORMULATED ADHESIVE.

v

) INSULATED METAL PANEL

OPTION 2

. . . o 2021-06-08 ’ DC
08¢ Airfoam Industries Ltd.| \ oRoLITE® INSULATED METAL PANELS |~

Phone: (604) 590-2876 Standard Details "o Cesxar

501 YYYY-MM-DD  Revisions
Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd. Err
IT1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING PANEL PROFILES K101 K 1 0 1

THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE o
/AND HANDLING OF THESE PRODUCTS. KIMP Typical Details




PLACEMENT OF @3/8“ [10mm] BEADS OF BUTYL
BETWEEN PANEL JOINTS
DEPENDENT ON ENVIRONMENT

KOROLITE® INSULATED METAL PANEL /

WARM SIDE
COLD SIDE

@ CAULKING AT PANEL JOINT

\ KOROLITE INSULATED METAL PANEL

CLEAR SILICONE OR EQUAL ON ALL
INTERIOR PANEL JOINTS. SILICONE
OR EQUAL ON EXTERIOR PANEL

JOINTS AS NECESSARY

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

CAULKING AT PANEL JOINT

2021-06-08

zP

=01 YYYY-MM-DD

K102

KIMP Typical Details

Revisions




3/16"
[5mm]

PANEL MODULE
48" [1219 mm] or 45.75" [1162 mm]

N

5/8
[16mm]

N

@ PANEL TO PANEL JOINT

1/8
[3mm]

N

N

3/4
[18mm]

] Airfoam Industries Ltd.

©
.0‘

19402 56 Ave, Surrey, BC V3S 6K4
Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

PANEL TO PANEL JOINT

2021-06-08

zP

NTS

01 YYYY-MM-DD

K103

" KIMP Typical Details

Revisions

DC

2021-06-09

8.5"x 11"

K103



AutoCAD SHX Text
3/16" [5mm]

AutoCAD SHX Text
20°

AutoCAD SHX Text
20°

AutoCAD SHX Text
3/16" [5mm]

AutoCAD SHX Text
3/8" [9mm]

AutoCAD SHX Text
3/8" [9mm]

AutoCAD SHX Text
9/64" [3.5mm]

AutoCAD SHX Text
3/16" [5mm]

AutoCAD SHX Text
5/8" [16mm]

AutoCAD SHX Text
1/8" [3mm]

AutoCAD SHX Text
3/4" [18mm]


26 Ga. [0.55mm] BASE ANGLE UNLESS SPECIFIED OTHERWISE
SEE FLASHING DETAIL T5
C/W #8-18 PAN HEAD SCREWS @12" [305mm] O.C.

USE SPRAY FOAM IF BASE OUT OF LEVEL

@%4" [10mm] BEAD BUTYL (TYP.)

CONCRETE SLAB

ZAMAC SMACK PIN 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

1 PANEL TO FLOOR CONNECTION

BASE ANGLE OPTION

KOROLITE INSULATED METAL PANEL

SPECTRUM 2 SILICONE OR EQUAL (TYP.)
WHITE FOR WHITE FLASHING
CLEAR FOR STAINLESS STEEL OR GALV. FLASHING

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

- : : i
Y Airfoam Industries Ltd.| \ oRoLITE® INSULATED METAL PANELS |
e P;wone: (éo4> 590-2876 Standard Details )

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

PANEL TO FLOOR CONNECTION

BASE ANGLE OPTION

2021-06-08

zP

NTS

=01 YYYY-MM-DD

K201

" KIMP Typical Details

Revisions

DC

2021-06-09

8.5"x 11"

K201




26 Ga. [0.55mm] BASE CHANNEL UNLESS SPECIFIED OTHERWISE
SEE FLASHING DETAIL T4
C/W #8-18 PAN HEAD SCREWS @12" [305mm] O.C.

USE SPRAY FOAM IF BASE OUT OF LEVEL

CONCRETE SLAB

]

ZAMAC SMACK PIN 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

PANEL TO FLOOR CONNECTION

1

U CHANNEL OPTION

KOROLITE INSULATED METAL PANEL

A SPECTRUM 2 SILICONE OR EQUAL (TYP.)
WHITE FOR WHITE FLASHING.
CLEAR FOR STAINLESS STEEL OR GALV. FLASHING

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

. . -
oo  Airoamindustries Ld.| \ oROLITE® INSULATED METAL PANELS
e P;wone: (éo4> 590-2876 Standard Details

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

PANEL TO FLOOR CONNECTION

U CHANNEL OPTION

2021-06-08

zP

NTS

=01 YYYY-MM-DD

K202

" KIMP Typical Details

Revisions

DC

2021-06-09

8.5"x 11"

K202




26 Ga. [0.55mm] BASE CHANNEL UNLESS SPECIFIED OTHERWISE
SEE FLASHING DETAIL T4
C/W #8-18 PAN HEAD SCREWS @12" [305mm] O.C.

USE SPRAY FOAM IF BASE OUT OF LEVEL

KOROLITE INSULATED METAL PANEL

/ SPECTRUM 2 SILICONE OR EQUAL (TYP.)

CONCRETE CURB

( CONCRETE SLAB

ZAMAC SMACK PIN 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

PANEL TO CURB CONNECTION

1

U-CHANNEL OPTION

WHITE FOR WHITE FLASHING.
CLEAR FOR STAINLESS STEEL OR GALV. FLASHING

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

. . - " 2021-06-08 o DC
oo  Airfoamindustries Lid.| \ oROLITE® INSULATED METAL PANELS | -
b - Standard Details L T asar

Phone: (604) 590-2876
Fax: (604) 590-8412

www.airfoam.com

=01 YYYY-MM-DD

PANEL TO CURB CONNECTION "

" KIMP Typical Details

Revisions

K203




KOROLITE INSULATED METAL PANEL

/ SPECTRUM 2 SILICONE OR EQUAL (TYP.)
WHITE FOR WHITE FLASHING.
CLEAR FOR STAINLESS STEEL OR GALV. FLASHING

26 Ga. [0.55mm] BASE CHANNEL UNLESS SPECIFIED OTHERWISE
SEE FLASHING DETAIL T4
C/W #8-18 PAN HEAD SCREWS @12" [305mm] O.C.

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

SPRAY FOAM IF NECESSARY TO LEVEL BASE STAINLESS STEEL DRIP CAP

SEE T16A

CONCRETE CURB

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)
CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

CONCRETE SLAB

ZAMAC SMACK PIN 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

1 PANEL TO CURB CONNECTION

U CHANNEL - WITH STAINLESS STEEL DRIP CAP

[/ Airfoam Industries Ltd o
® - -
Y ¢ "I KOROLITE® INSULATED METAL PANELS | =~ 2021.06.09
[} ) 19402 56 Ave, Surrey, BC V3S 6K4 ) - o
[ ] Phone: (604) 590-2876 Standard Details NTS B8
Fax: (604) 500-8412 =01 YYYY-MM-DD Revisions
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd. PANEL TO CURB CONNECTION ——
T Vo OF THESE SRODISTS. 1112 FURTHER THE RESPONSINLTY OF THE ULt 0 RESEARGH A NOERS AN SAFE NETAODS OF USE U CHANNEL - WITH STAINLESS STEEL DRIP CAP K204
/AND HANDLING OF THESE PRODUCTS. KIMP Typical Details




TWO 3/8“ [10mm] BEADS OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED METAL PANEL

/]

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

BASE TRIM/DRIP CAP
SEE T16B

HEX HEAD TEK SCREW
WITH WASHER

BUTYL 9

214" x 6" x 2 V5" [63mmx152mmx63mm]
18 Ga. [1.02mm] [1.02mm] BENT PLATE

i »X\XX\X\\X\XX\X\\X\XX\L&X\X\\X\XX\X N =3

CLEAR SILICONE SPECTRUM 2
OR EQUAL (TYP.)

STAINLESS STEEL DRIP CAP

SEE FLASHING DETAIL T16A

C/W # 8 PAN HEAD STAINLESS STEEL SCREWS
FOR FOOD PROCESSING FACILITIES

CONCRETE CURB

BUTYL

,/~ #8-18 PAN HEAD SCREW @12" [305mm] O.C.

CONCRETE FLOOR SLAB

CIW 3" x 3" [10mm x 76mm] @ 12" (305mm) O.C. [
HILTI KWICK HUS ANCHOR BY OTHERS —— ]

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

ZAMAC SMACK PIN 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

\

CONCRETE BY OTHERS

THERMAL BREAK
CUT SKIN OFF PANEL

@ EXTERIOR COOLER WALL PANEL BASE

2021-06-08 DC

o : :
08¢ Airfoam Industries Ltd.| \ oRoLITE® INSULATED METAL PANELS |~

Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Standard Details

EXTERIOR COOLER WALL PANEL BASE

K205

01 YYYY-MM-DD Revisions

KIMP Typical Details




AIR GAP AS PER
ARCHITECTURAL DRAWINGS
3" [76mm] RECOMMENDED ——_|

3" x 3" [76mm x 76mm]

18 Ga. [1.02mm] ANGLE

SEE FLASHING DETAIL T5A
C/W #8-18 PAN HEAD SCREWS
@ 4'-0" [100mm] O.C. ——|

CONCRETE TILT UP
WALL BY OTHERS ——|

BUTYL “\

‘ KOROLITE INSULATED METAL PANEL

OR EQUAL (TYP.)

C/W # 8 PAN HEAD

CONCRETE CURB

~

@ 12" [305mm] O.C.

| — BUTYL

#8-18 PAN HEAD SCREWS

CONCRETE FLOOR SLAB

CONCRETE SLAB
BY OTHERS

THERMAL BREAK
CUT SKIN OFF PANEL

1 LINER WALL PANEL BASE

OPTION B - FOR WALLS UNDER 20' [6.1m] TALL

\\ ZAMAC SMACK PIN @2'-0" [610mm] O.C.

ONE % [10mm] BEAD OF CAULKING
FOR EXTERIOR APPLICATION

CLEAR SILICONE SPECTRUM 2

STAINLESS STEEL DRIP CAP
SEE FLASHING DETAIL T16A

STAINLESS STEEL SCREWS
FOR FOOD PROCESSING FACILITIES

TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08

KOROLITE® INSULATED METAL PANELS | =

Standard Details .

01 YYYY-MM-DD Revisions

LINER WALL PANEL BASE

OPTION A - FOR WALLS OVER 20'[6.1m] TALL

K206

" KIMP Typical Details

DC

2021-06-09

8.5"x 11"

K206




TWO 3" [10mm] BEADS OF
CAULKING FOR EXTERIOR
APPLICATION

KOROLITE INSULATED METAL PANELS

=

3" [76mm] THERMAL BREAK
CUT METAL SKIN OFF PANEL

SPECTRUM 2 SILICONE
OR EQUAL (TYP.)

DRIP CAP SEE T15

)

Iy
/
X

/ BUTYL
? ZAMAC SMACK PIN

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL

STAINLESS STEEL DRIP CAP
SEE T16A

CONCRETE CURB

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL

ELASTOMERIC CAULKING
BY OTHERS

SPECTRUM 2 SILICONE
CAULKING OR EQUAL (TYP)

@2-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB,
BASE AND CORNERS

CONCRETE FLOOR SLAB
BY OTHERS

—

205 x6"x 215" Yie"

[64mm x 152mm x 64mm, 5mm]

BENT PLATE

C/W 3/8 x 3" [10mm x 76mm]

@ 1'-0" [305mm] O.C.

HILTI KWICK HUS ANCHOR BY OTHERS

\HHHHHHHHHHHE

ADHERE 6" [152mm] BLUESKIN MEMBRANE
TO FOUNDATION WALL & ANGLE

AND BOND TO PANEL

3" [76émm] ABOVE CONCRETE

KOROLITE EPS FLOOR INSULATION

AND 3" [76mm] BELOW CONCRETE R

FOUNDATION WALL BY OTHERS

SPECTRUM 2 SILICONE
OR EQUAL

N

NOTES:

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. SPECTRUM 2 SILICONE OR APPROVED EQUAL 6" [152mm] UP PANEL JOINT FROM TOP OF BASE FLASHING

@ EXTERIOR FREEZER WALL PANEL BASE

SPRAY POLYURETHANE FOAM
BY OTHERS

FREEZER FLOOR FROST
PREVENTION SYSTEM
RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm]
BY OTHERS

. - -
Y Airfoam Industries Ltd.| o5 |TE® INSULATED METAL PANELS |
‘ 19402 56 Ave, Surrey, BC V3S 6K4 . e
. Phone: (604) 590-2876 Standard Details )
a. am Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd. LINER WALL PANEL BASE
1119 THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICASLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONGERNING OPTION B FOR WALLS UNDER 20 [6.1m] FT TALL

THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08 DC

zp 2021-06-09

NTS 8.5"x 11"

01 YYYY-MM-DD Revisions

K207

KIMP Typical Details




TWO %" [10mm] BEADS OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED METAL PANEL

CLEAR SILICONE SPECTRUM 2 OR EQUAL (TYP.)

BASE TRIM/DRIP CAP
SEE T16B

HEX HEAD TEK SCREW
WITH WASHER

BUTYL

215" x 6" x 2 5" [63mmx152mmx63mm]
18 Ga. [1.02mm] [1.02mm] BENT PLATE

C/W 34" x 3" [10mm x 76mm] @ 12" (305mm) O.C.

HILTI KWICK HUS ANCHOR BY OTHERS —— |

CLEAR SILICONE SPECTRUM 2
OR EQUAL (TYP.)

ZAMAC SMACK PIN 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

CONCRETE BY OTHERS

e

\s\

NOTE:
CONNECTION TO STRUCTURE TBD

BUTYL

CLEAR SILICONE SPECTRUM 2
OR EQUAL (TYP.)

#8-18 PAN HEAD SCREW @12" [305mm] O.C.

CONCRETE FLOOR SLAB

THERMAL BREAK
CUT SKIN OFF PANEL

@ EXTERIOR WALL PANEL BASE - NO CURBS

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS e

Standard Details

EXTERIOR FREEZER WALL PANEL BASE

2021-06-08 DC

2021-06-09

NTS 8.5"x 11"

01 YYYY-MM-DD Revisions

- K208

KIMP Typical Details




AIR GAP AS PER
ARCHITECTURAL DRAWINGS
3" [76émm] RECOMMENDED —_|

3" x 3" [76mm x 76mm]

18 Ga. [1.02mm] ANGLE

C/W #8-18 PAN HEAD SCREWS
@ 4'-0" [100 mm] O.C.

(SEE T5A) ——{

CONCRETE TILT UP
WALL BY OTHERS —|

BUTYL ——

[

.u 8

N

=)

L

\

ONE 3/8“ [10mm] BEAD OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED METAL PANEL

CLEAR SILICONE SPECTRUM 2
OR EQUAL (TYP.)

STAINLESS STEEL DRIP CAP
SEE FLASHING DETAIL T16A
C/W # 8 PAN HEAD
STAINLESS STEEL SCREWS
AS REQUIRED FOR FOOD
PROCESSING FACILITIES

CONCRETE CURB

#8-18 PAN HEAD SCREW
@ 12" [305mm] O.C.

BUTYL

CONCRETE FLOOR SLAB

CONCRETE SLAB
BY OTHERS

r—

THERMAL BREAK
CUT SKIN OFF PANEL

LINER WALL PANEL BASE

1

OPTION A - FOR WALLS OVER 20' [6.1m] TALL

ZAMAC SMACK PIN@ 2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB BASE AND CORNERS

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Standard Details

EXTERIOR WALL PANEL BASE - NO CURBS

01 YYYY-MM-DD

K208

" KIMP Typical Details

2021-06-08 DC

KOROLITE® INSULATED METAL PANELS |

zp 2021-06-09

NTS 8.5"x 11"

Revisions

"~ K208A




CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL

TWO 34" [10mm] BEADS OF

CAULKING FOR EXTERIOR STAINLESS STEEL DRIP CAP
APPLICATION ‘ ‘ SEE T16A
\ CONCRETE CURB
KOROLITE INSULATED
METAL WALL PANELS s 5’"‘% SILICONE CAULKING
SPECTRUM 2 OR EQUAL (TYP.)
STAINLESS STEEL DRIP CAP [~
SEE T16A
[~ ELASTOMERIC CAULKING
= BY OTHERS
| 3" [76mm] THERMAL BREAK
| CUT METAL SKIN OFF PANEL
| 3"x3" [76mm x 76mm]
| 18 Ga. [1.02mm]
| GALV. BASE ANGLE
| C/W #8-18 PAN HEAD
| SCREWS @ 12" [305mm] O.C.
| SEE T5
g ZAMAC SMACK PIN
4 @2-0" [610mm] O.C.
[ TWO ZAMAC PINS AT DOOR JAMB
7 BASE AND CORNERS
CONCRETE FLOOR SLAB
BY OTHERS
10 mil [0.255mm] - =
POLY VAPOR BARRIER. A = |
ADHERE TO FACE OF PANEL /|
WITH BUTYL CAULKING \ .
33" [76mm x 76mm| ]
18 Ga. [1.02mm] GALV. BASE ANGLE 4 ]
CIW #14x7/g" [22mm], ==
%"' [6mm] HEX HEAD SCREWS = L I B B
@ 12" [305"‘2']53% [ %i T o T O A R A O R A
[ c b bee b b by
\ 1 i E EPS FLOOR INSULATION N
= ] ] ] ] ]
| i EERRERRRRERERR R
ONE %" [12mm] BEAD OF CAULKING PEPEEp i
UNDERANGLE — | l HEEEEER NN
— T —_— = . - - =
soboodo ot AN/ o /
FREEZER FLOOR FROST
PREVENTION SYSTEM
RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 120" [3,658mm)]
BY OTHERS
ZAMAC PINS
@ 24" [610mm] O.C.

FILL VOID BETWEEN WALL PANEL AND

NOTEs:  FLOOR INSULATION WITH POLYURETHANE (BY OTHERS) THERMAL BREAK - CUT SKIN OFF PANEL

BELOW CONCRETE SLAB

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. SPECTRUM 2 SILICONE OR APPROVED EQUAL 6" [152mm] UP PANEL JOINT FROM TOP OF BASE FLASHING

@ RAISED FREEZER FLOOR WITH CURBS

. - o 2021-06-08 o DC
e Airfoam Industries Ltd. ®
Y ¢ KOROLITE® INSULATED METAL PANELS z 2021.06.09
. ‘ 19402 56 Ave, Surrey, BC V3S 6K4 . e E=r
[ ] Phone: (604) 590-2876 Standard Details NTS B8
=01 YYYY-MM-DD Revisions
Fax: (604) 590-8412
a. am www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd. RAISED FREEZER FLOOR o
T Vo OF THESE SRODISTS. 1112 FURTHER THE RESPONSINLTY OF THE ULt 0 RESEARGH A NOERS AN SAFE NETAODS OF USE WITH CURBS s K2 0 9
/AND HANDLING OF THESE PRODUCTS. KIMP Typical Details




TWO 3/8" [10mm] BEADS OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED

10 mil [0.255mm] POLY VAPOR BARRIER.
ADHERE TO FACE OF PANEL
WITH BUTYL CAULKING

BUTYL BEHIND ANGLE

26 Ga. [0.55mm] BASE ANGLE
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEET5

TWO 1/2" [13mm] BEADS OF
CAULKING UNDER PANEL

METAL WALL PANEL \

SILICONE SPECTRUM 2 OR EQUAL\ —_—

S

s

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL

BUTYL

ELASTOMERIC CAULKING
BY OTHERS

3"x3" [76mm x 76mm]

18 Ga. [1.02mm] GALV. BASE ANGLE
C/W #8-18 PAN HEAD SCREWS

@ 12" [305mm] O.C.

SEE T5

ZAMAC SMACK PIN

@2'-0" [610mm] O.C.

TWO ZAMAC PINS AT DOOR
JAMB

BASE AND CORNERS
CONCRETE FLOOR SLAB
BY OTHERS

PR ] (1 [T T I IT ]

- - — - — 4

LT
=i

I

I

[ [
FLOOR INSULATION
[

I

I

I

i

. e . — — — —

07

4
)«ﬁ
pd

ZAMAC PINS @ 24"
[610mm] O.C.

FREEZER FLOOR FROST
PREVENTION SYSTEM
RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm]
BY OTHERS

NOTES:

FILL VOID BETWEEN

WITH POLYURETHANE

WALL PANEL AND
FLOOR INSULATION

(BY OTHERS)

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. SPECTRUM 2 SILICONE OR APPROVED EQUAL 6" [152mm] UP PANEL JOINT FROM TOP OF BASE FLASHING

THERMAL BREAK
CUT SKIN OFF PANEL
BELOW CONCRETE SLAB

@ RAISED FREEZER FLOOR WITHOUT CURBS

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING

THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Phone: (604) 590-2876
Fax: (604) 590-8412

www.airfoam.com

KOROLITE® INSULATED METAL PANELS
Standard Details

RAISED FREEZER FLOOR
WITHOUT CURBS

=01 YYYY-MM-DD

" KIMP Typical Details

2021-06-08 DC

zp 2021-06-09
NTS 85 x 11"

Revisions

K210

K210




TWO 3/8“ [10mm] BEADS OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED
METAL WALL PANEL

10 mil [0.25mm] POLY VAPOR BARRIER
ADHERE TO FACE OF PANEL
WITH BUTYL CAULKING

SPRAY FOAM IF NECESSARY

TO LEVEL BASE \

N

-/

Tfé\\u I NININ NN R

L T T

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL (TYP.)

STAINLESS STEEL DRIP CAP
SEE T6A

SILICONE CAULKING
SPECTRUM 2 OR EQUAL (TYP.)

ELASTOMERIC CAULKING
BY OTHERS

3" [76mm] THERMAL BREAK
CUT METAL SKIN OFF PANEL

3"x3" [76mm x 76mm]

18 Ga. [1.02mm] GALV. BASE ANGLE
C/W #8-18 PAN HEAD SCREWS

@ 12" [305mm] O.C.

SEE T5

ZAMAC SMACK PIN
@2-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR
JAVB
BASE AND CORNERS

CONCRETE CURB
/ AND BACKPOUR - COMPLETED

AFTER PANEL INSTALLATION

(LTI AT

CONCRETE "MUDSLAB" OR EQUAL ——_ |

FREEZER FLOOR FROST
PREVENTION SYSTEM

PPyl
PPyl
| KOROLITE EPS FLOOR

1 INSULATION R EE
T O I A O I A
T O I A O I A
|

RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm]
BY OTHERS

N

\

NOTES:

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. BLOCK OUT OPENING IN FLOOR 1" [256mm] LARGER THAN THICKNESS OF PANEL.

@ PRECONSTRUCTED FREEZER FLOOR WITH CURBS

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

www.airfoam.com

KOROLITE® INSULATED METAL PANELS
Standard Details

PRECONSTRUCTED FREEZER FLOOR

2021-06-08 DC

zp 2021-06-09
NTS 85 x 11"

01 YYYY-MM-DD Revisions

K211

K211

" KIMP Typical Details




TWO 34" [10mm] BEADS OF | |
CAULKING FOR EXTERIOR
APPLICATION
CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL (TYP.)
KOROLITE INSULATED METAL PANEL
ELASTOMERIC CAULKING
L BY OTHERS
Q. 3" [76mm] THERMAL BREAK
10 mil [0.255mm] POLY VAPOR BARRIER. CUT METAL SKIN OFF PANEL
ADHERE TO FACE OF PANEL
WITH BUTYL CAULKING 33" [76mm x 76mm] 18 Ga. [1.02mm]
GALV. BASE ANGLE
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.
SEE T5A
SPRAY FOAMT'E TE\C/ELSEQ';E ZAMAC SMACK PIN @2'-0" [610mm] O.C.
4 TWO ZAMAC PINS AT DOOR JAMB
BASE AND CORNERS

CONCRETE FLOOR

LI ILA]

KOROLITEEPSFLOOR | |1 [ 1111 H | by
1171 INSULATION RN EREE

CONCRETE "MUDSLAB" OR EQUAL —_ |

FREEZER FLOOR FROST
PREVENTIONSYSTEM [ . N == @ e e e e e e e e e e e e = = = —

RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm] 4

BY OTHERS \

NOTES:

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. BLOCK OUT OPENING IN FLOOR 1" [25 mm] LARGER THAN THICKNESS OF PANEL.

@ PRECONSTRUCTED FREEZER FLOOR WITHOUT CURBS

. - o 2021-06-08 o DC
e Airfoam Industries Ltd. ®
Y ¢ KOROLITE® INSULATED METAL PANELS z 2021.06.09
. ‘ 19402 56 Ave, Surrey, BC V3S 6K4 . e E=r
[ ] Phone: (604) 590-2876 Standard Details NTS B8
=01 YYYY-MM-DD Revisions
Fax: (604) 590-8412
a. am www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd. PRE-CONSTRUCTED FREEZER FLOOR =
T Vo OF THESE SRODISTS. 1112 FURTHER THE RESPONSINLTY OF THE ULt 0 RESEARGH A NOERS AN SAFE NETAODS OF USE WITHOUT CURBS — K2 1 2
/AND HANDLING OF THESE PRODUCTS. KIMP Typical Details




TWO 34" [10mm] BEADS OF
CAULKING FOR EXTERIOR
APPLICATION

ADHERE VAPOR
BARRIER TO FACE OF
PANEL WITH BUTYL
CAULKING

3"x3" [76mm x 76mm] 18 Ga. [1.02mm]
GALV. BASE ANGLE

C/W #8-18 PAN HEAD

SCREWS @ 12" [305mm] O.C.

SEE T5

SPRAY FOAM

JAMB

10 mil [0.255mm] POLY
VAPOR BARRIER.

KOROLITE INSULATED
METAL WALL PANEL

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL

ZAMAC SMACK PIN
@12" [305mm] O.C.
TWO ZAMAC PINS AT DOOR

BASE AND CORNERS

ADHERE TO FACE OF
PANEL WITH BUTYL
CAULKING —_|

r

I

I

3 I

CONCRETE "MUDSLAB" |
OR EQUAL —_| |

I

\]

7 I

FREEZER FLOOR FROST
PREVENTION SYSTEM
RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm]
BY OTHERS

NOTES:

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. BLOCK OUT OPENING IN FLOOR 1" [25 mm] LARGER THAN THICKNESS OF PANEL.

@ PRECONSTRUCTED FREEZER FLOOR

MINIMUM 4" [100mm] THICK INSULATION UPSTAND

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

PRECONSTRUCTED FREEZER FLOOR
WITH UPSTAND - NO CURBS

2021-06-08

zP

NTS

01 YYYY-MM-DD

K213

" KIMP Typical Details

Revisions

DC

2021-06-09

8.5"x 11"

K213




TWO 34" [10mm] BEADS OF
CAULKING FOR EXTERIOR

APPLICATION
ADHERE VAPOR \

BARRIER TO FACE OF
PANEL WITH BUTYL
CAULKING

3"x3" [76mm x 76mm] 18 Ga. [1.02mm]
GALV. BASE ANGLE

C/W #8-18 PAN HEAD SCREWS

@ 12" [305mm] O.C.

SEE T5
\

LT TN

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL

STAINLESS STEEL DRIP CAP
SEE T16A

CONCRETE CURB

CLEAR SILICONE CAULKING
SPECTRUM 2 OR EQUAL (TYP.)

ELASTOMERIC CAULKING

CUT METAL SKIN OFF PANEL
3"x3" [76mm x 76mm] 18 Ga. [1.02mm]

/ BY OTHERS
/ 3" [76mm] THERMAL BREAK

GALV. BASE ANGLE
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEE T5

ZAMAC SMACK PIN
@2'-0" [610mm] O.C.
TWO ZAMAC PINS AT DOOR JAMB

SPRAY FOAM
T BASE AND CORNERS
CONCRETE CURB
1. AND BACKPOUR - COMPLETED
g e AFTER PANEL INSTALLATION
d E\(m U,-—"Rn
o~
M Ty T T T 7T T T T T T T T T [ T T T T
34 Homm] BLACK POLY R R R A A s R AR AR
RN RN REEE R | TT+—H— MINIMUM 4" [100mm] THICK
‘ I/ 1 11| 11|11 KOROLITE EPS FLOOR INSULATION | | | | | | ||| || INSULATION UPSTAND
CONCRETE "MUDSLAB" :HHHHHHHHHHHHHHi
OR BQUAL ——_| A
FREEZER FLOOR FROST R A A s AR A
PREVENTION SYSTEM (P e e e e e e e e e e
RECOMMENDED FOR T i i i
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm]
BY OTHERS e
NOTES:
1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. BLOCK OUT OPENING IN FLOOR 1" [25mm] LARGER THAN THICKNESS OF PANEL.
- - - 2021-06-08 o DC
e Airfoam Industries Ltd.
Y ¢ KOROLITE® INSULATED METAL PANELS z 2021.06:09
. ‘ 19402 56 Ave, Surrey, BC V3S 6K4 - oo
NTS 8.5"x 11"

Phone: (604) 590-2876
Fax: (604) 590-8412

a. am www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Standard Details

01 YYYY-MM-DD

Revisions

PRECONSTRUCTED FREEZER FLOOR

WITH UPSTAND - WITH CURBS

" KIMP Typical Details

K214

K214




TWO 34" [100mm] BEADS OF
CAULKING FOR EXTERIOR
APPLICATION

ADHERE VAPOR
BARRIER TO FACE OF
PANEL WITH BUTYL
CAULKING

3"x3" [76mm X 76mm]
18 Ga. [1.02mm]

GALV. BASE ANGLE

C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm]

O.C. SEET5
\

—

CLEAR SPECTRUM 2
SILICONE CAULKING
OR EQUAL (TYP)

STAINLESS STEEL DRIP CAP
SEE T16A

CONCRETE CURB

[T TITIIIIITITIN

[T NI S

3"x3" [76mm x 76mm]

18 Ga. [1.02mm] GALV. BASE ANGLE
C/W #8-18 PAN HEAD SCREWS

@ 12" [305mm] O.C.

SEE T5

TWO %" [13 mm]
BEADS OF
CAULKING UNDER
PANEL

— e

ELASTOMERIC
CAULKING BY OTHERS

N\

el CONCRETE FLOOR
SLAB BY OTHERS

PLACE A STRIP OF 10 mil [0.25mm]
VAPOR BARRIER UNDER AND
ADHERE TO UNDER FLOOR
VAPOR BARRIER WITH
2 BEADS OF CAULK
OVER-LAP MIN 12" [305mm]

KOROLITE EPS FLOOR INSULATION | |

LU TN

gl = SiEmcsSiiE NS

— 5

\H\_\ PPyt

ZAMAC PINS
@ 24" [610mm] O.C.

FREEZER FLOOR FROST
PREVENTION SYSTEM
RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN 12'-0" [3,658mm]

FILL VOID BETWEEN WALL PANEL AND
FLOOR INSULATION WITH POLYURETHANE

NOTES:

(BY OTHERS)

1. BRACE EXTERIOR WALL PRIOR TO POURING CONCRETE FLOORS AND CURBS.
2. SPECTRUM 2 SILICONE OR APPROVED EQUAL 6" (152mm) UP PANEL JOINT FROM TOP OF BASE FLASHING

FREEZER FLOOR

@ STANDARD

1/8 -%" [3mm - 6mm]
THERMAL BREAK

CUT SKIN OFF PANEL
BELOW CONCRETE SLAB

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
© Copyright 2021 Airfoam Industries Ltd.

www.airfoam.com
IT1S THE RESPONSIBILITY OF THE USER TO GOMPLY WITH AL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS

Standard Details

2021-06-08 DC

zp 2021-06-09

NTS 8.5"x 11"

01 YYYY-MM-DD Revisions

STANDARD FREEZER FLOOR

WITH CURBS

K215

K215

" KIMP Typical Details




TWO 34" [10mm] BEADS OF
CAULKING FOR EXTERIOR
APPLICATION

KOROLITE INSULATED
METAL PANEL

TWO %" [13mm] BEADS OF
SPRAY FOAM

26 Ga. [0.55mm] BASE CHANNEL
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEE T4

TWO %" [13mm]
BEADS OF CAULKING
UNDER PANEL

ZAMAC SMACK PIN
@12" [305mm] O.C.
TWO ZAMAC PINS AT DOOR
JAMB

BASE AND CORNERS ———1

FREEZER FLOOR FROST
PREVENTION SYSTEM
RECOMMENDED FOR
FREEZER FLOOR AREAS
LONGER THAN

12'-0" [3,658mm]

L)/

SPECTRUM 2 SILICONE
OR EQUAL (TYP.)

26 Ga. [0.55mm] INSIDE ANGLE
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C. (TYP.)

SEE T1

BUTYL

20 Ga. 3" [76mm] WIDE
STAINLESS STEEL STRIP

C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEE T7A

KOROLITE INSULATED
METAL FLOOR PANEL

APPLIED ¥," [19mm]

D GRADE PLYWOOD &

20 Ga. GALVANIZED STEEL TO A
KOROLITE INSULATED METAL
FLOOR PANEL.

USE WOOD SCREWS AND PL
PREMIUM CONSTRUCTION
ADHESIVE OR EQUIVALENT

<
Z % %

7 % 7 % % ~ % ~ 7 7 7 %

L7 Il ~ LIl s I S

7 g % g % % 7 % 2 % 7

PN U o K e e e

\g/ ~ /. @ 7/ v/ s 7 @ 7 77

s}

=
/ .

CONCRETE "MUDSLAB" OR EQUAL

NOTES:

THERMAL BREAK CUT SKIN OFF PANEL

1. WHEN APPLYING PLYWOOD AND GALVANIZED STEEL, ENSURE THAT EACH LAYER
IS INSTALLED PERPENDICULAR TO ONE ANOTHER.

2. FASTEN PLYWOOD TO PANEL USING #14 x 1%" [44mm] STAINLESS STEEL
FLATHEAD SCREWS @ 16" [406mm] IN EACH DIRECTION AND ALONG SEAMS, AND
APPLY GALVANIZED STEEL TO GLUE LAMINATED PLYWOOD.

@ BUILT UP FREEZER FLOOR

o
©
.0‘

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BU
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH
AND HANDLING OF THESE PRODUCTS.

Airfoam Industries Ltd.

19402 56 Ave, Surrey, BC V3S 6K4

KOROLIT

Phone: (604) 590-2876
Fax: (604) 590-8412
www.airfoam.com

ILDING CODE REQUIREMENTS CONCERNING
AND UNDERSTAND SAFE METHODS OF USE

WITH PANE

E® INSULATED METAL PANELS
Standard Details

BUILT UP FREEZER FLOOR
L, PLYWOOD AND GALVANIZED STEEL

KIMP Typical Details

2021-06-08

zP

NTS

01 YYYY-MM-DD Revisions

K216




TWO CONTINUOUS

BEADS OF CAULKING OR

SPECTRUM 2 SILICONE

26 Ga. [0.55mm] OUTSIDE CORNER
C/W #8-18 PAN HEAD SCREWS

1

URETHANE FOAM

OR EQUAL (TYP.)

@ 12" [305mm] O.C.
SEE T2

VAPOR TAPE

]

KOROLITE INSULATED METAL PANEL

SEE T1

KOROLITE INSULATED METAL PANEL

NOTE: ALL JOINTS ARE TO BE SEALED WITH CAULKING (INSIDE AND OUTSIDE CORNERS)

MITRE JOINT - FREEZER - PLAN VIEW

TWO CONTINUOUS

BEADS OF CAULKING OR

SPECTRUM 2 SILICONE OR

26 Ga. [0.55mm] OUTSIDE CORNER
C/W #8-18 PAN HEAD SCREWS

URETHANE FOAM

EQUAL (TYP.)

@ 12" [305mm] O.C.
SEE T2

VAPOR TAPE

L
-#

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS
@12" [305mm] O.C. (TYP.)

KOROLITE INSULATED METAL PANEL

SEE T1

KOROLITE INSULATED METAL PANEL

NOTE: ALL JOINTS ARE TO BE SEALED WITH CAULKING (INSIDE AND OUTSIDE CORNERS)

@ MITRE JOINT - COOLER - PLAN VIEW

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS
@12" [305mm] O.C. (TYP.)

] Airfoam Industries Ltd.

©
.0‘

19402 56 Ave, Surrey, BC V3S 6K4
Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

COOLER WALL CONNECTION - MITRE JOINT
FREEZER WALL CONNECTION - MITRE JOINT

2021-06-08

zP

NTS

01 YYYY-MM-DD

K301

" KIMP Typical Details

Revisions

DC

2021-06-09

8.5"x 11"

K301




TWO CONTINUOUS
BEADS OF CAULKING OR
URETHANE FOAM

SPECTRUM 2 SILICONE
OR EQUAL (TYP.)

/

26 Ga. [0.55mm] EDGE COVER
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEE T3

VAPOR TAPE

KOROLITE INSULATED METAL PANEL

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS

@12" [305mm] O.C. (TYP.)

SEE T1

CUT THERMAL BREAK
(FREEZER ONLY)

]

CORNER BUTT JOINT

OPTION 1

1

CAULKING OR URETHANE FOAM

SPECTRUM 2 SILICONE
OR EQUAL (TYP.)

26 Ga. [0.55mm] EDGE COVER
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

e

S

KOROLITE INSULATED METAL PANEL

KOROLITE INSULATED METAL PANEL

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS

@12" [305mm] (TYP.)

SEE T1

CUT THERMAL BREAK
(FREEZER ONLY)

CAULKING OR URETHANE FOAM

SEE T3

VAPOR TAPE

)
G

b

CORNER BUTT JOINT

2

OPTION 2

/

KOROLITE INSULATED METAL PANEL

Airfoam Industries Ltd.

2021-06-08

o
.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS B

Standard Details

COOLER WALL CONNECTION - CORNER BUTT JOINT
OPTIONS 1 & 2

zP

NTS

01 YYYY-MM-DD

K302

" KIMP Typical Details

Revisions

DC

2021-06-09

8.5"x 11"

K302




26 Ga. [0.55mm] EDGE COVER
C/W #8-18 PAN HEAD SCREWS

KOROLITE INSULATED METAL PANEL

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS
@12" [305mm] O.C. (TYP.)

@ 12" [305mm] O.C. SEETH
SEE T3
=y
f
L.
L 1 "
TWO %" [13mm] BEADS OF
BUTYL CAULKING
'7 L -

THERMAL BREAK \

SPECTRUM 2 SILICONE
OR EQUAL(TYP.)

26 Ga. [0.55mm] 3" BATTON TRIM
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEE T7

FILL VOID BETWEEN PANELS WITH
POLYURETHANE SPRAY FOAM

KOROLITE INSULATED METAL PANEL /

NOTES:

C/W #8-18 PAN HEAD SCREWS
@12" [305mm] O.C. (TYP.)
SEET1

26 Ga. [0.55mm] HEMMED INSIDE TRIM

1. EDGE COVER SIZE VARIES DEPENDING ON FREEZER PANEL THICKNESS. THIS DETAIL IS BASED ON
USING 8" [203mm] FREEZER PANELS & 4"[100mm] COOLER PANELS.

COOLER TO FREEZER CORNER CONNECTION

1

OPTION 1

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS

Standard Details

COOLER WALL TO FREEZER WALL
CORNER CONNECTION
OPTION 1

2021-06-08 DC

zp 2021

NTS

01 YYYY-MM-DD Revisions

K303

" KIMP Typical Details

-06-09

8.5"x 11"

K303




TWO }4" [13mm] BEADS OF
BUTYL CAULKING

1

THERMAL BREAK ——— |

SPECTRUM 2 SILICONE
OR EQUAL

26 Ga. [0.55mm] 3" [76mm] BATTON TRIM
C/W #8-18 PAN HEAD SCREWS

@ 12" [305mm] O.C.

SEE T7

KOROLITE INSULATED METAL PANEL

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS

@12" [305mm] (TYP.)

SEE T1

FILL VOID BETWEEN PANELS WITH
POLYURETHANE SPRAY FOAM

\_/

\ de—%

KOROLITE INSULATED METAL PANEL

e

NOTES:

"

26 Ga. [0.55mm] HEMMED EDGE COVER
C/W #8-18 PAN HEAD SCREWS
@12'[305mm] (TYP.)

SEE T3

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS

@12" [305mm] O.C. (TYP.)

SEET1

1. EDGE COVER SIZE VARIES DEPENDING ON FREEZER PANEL THICKNESS. THIS DETAIL IS BASED ON
USING 8" [203] FREEZER PANELS & 4" [100mm] COOLER PANELS.

COOLER TO FREEZER CORNER CONNECTION

1

OPTION 2

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Standard Details

COOLER WALL TO FREEZER
CORNER CONNECTION
OPTION 2

KOROLITE® INSULATED METAL PANELS

2021-06-08 DC

zP

NTS

01 YYYY-MM-DD Revisions

WALL

K304

" KIMP Typical Details

2021-06-09

8.5"x 11"

K304




ONE %" [10mm] BEAD OF KOROLITE INSULATED METAL

BUTYL CAULKING CEILING PANEL
(TWO BEADS FOR FREEZER)

3 .,/ 5
SPECTRUM 2 SILICONE 26 Ga. [0.55mm] HEMMED INSIDE TRIM
OR EQUAL C/W #8-18 PAN HEAD SCREWS
@12" [305mm] O.C. (TYP.)
SEE T1
\
THERMAL BREAK —
(FREEZER ONLY) KOROLITE INSULATED METAL
WALL PANEL
1 PLAN VIEW
e Airfoam Industries Ltd o
.00 164625 Ave, ooy, 5 V65 6K KOROLITE® INSULATED METAL PANELS > ~ano00
® Phone: (604) 500-2876 Standard Details NTS B&maT
=01 YYYY-MM-DD Revisions

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd. INTERIOR WALL T CONNECTION e
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING P LAN VI EW D305 K3 0 5

THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
/AND HANDLING OF THESE PRODUCTS. KIMP Typical Details




ONE 1/2 [10mm] BEAD OF BUTYL CAULKING
(TWO BEADS FOR FREEZER)

KOROLITE INSULATED METAL
CEILING PANEL

SPECTRUM 2 SILICONE
OR EQUAL

THERMAL BREAK
(FREEZER ONLY)

26 Ga. [0.55mm] HEMMED INSIDE TRIM
C/W #8-18 PAN HEAD SCREWS

@12" [305mm] O.C. (TYP.)

SEET1

\ KOROLITE INSULATED METAL

WALL PANEL

PARTITION WALL TO UNDERSIDE OF CEILING

1 ELEVATION
. . . " 2021-06-08 - DC
08¢ Airfoam Industries Ltd.| \ oRoLITE® INSULATED METAL PANELS |~

. Phone: (604) 590-2876
a. am R
© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING

THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

www.airfoam.com

Standard Details

PARTITION WALL TO UNDERSIDE OF CEILING
ELEVATION

01 YYYY-MM-DD Revisions

K306

K306

" KIMP Typical Details




CLEAR SPECTRUM 2 SILICONE
OR EQUAL (TYP.)

WINDOW WITH FLANGE
(SEE WINDOW MANUFACTURER'S DETAIL)

WINDOW TRIM
FASTENED WITH RIVETS
@ 24" [610mm] O.C. (TYP.)

WHITE SILICONE SPECTRUM 2
OR EQUAL (TYP)

g
=
=

KOROLITE INSULATED METAL
| WALLPANEL

WHITE SILICONE SPECTRUM 2
OR EQUAL (TYP.)

26 Ga. [0.55mm] BASE CHANNEL
(UNLESS OTHERWISE SPEC'D)
C/W #8-18 PAN HEAD SCREWS
@ 12" [305mm] O.C.

SEE T4

WHITE SILICONE SPECTRUM 2
OR EQUAL (TYP.)

\ KOROLITE INSULATED METAL

WALL PANEL

@ WINDOW HEAD AND SILL IN PANEL WALL

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS

Standard Details

WINDOW HEAD AND SILL IN PANEL WALL

2021-06-08 DC

zp 2021-06-09

NTS 8.5"x 11"

01 YYYY-MM-DD Revisions

- K401

KIMP Typical Details




FILL VOID AROUND CARRIAGE BOLTS
WITH CAULKING

%" [10mm] CARRIAGE BOLTS

CIW NUTS & 4" x2" [13mm x 50mm]
FENDER WASHERS @ 24" [610mm] O.C.

DOOR PANEL —]

18 Ga. [1.02mm] PANEL CUP

@7"x12"¢" [178mm x 305mm x 16mm] DEEP
ciw 1" [25mm] SLOT FOR ADJUSTMENT
SEE T27

WALL PANEL

26 Ga. [0.55mm] 8" [203mm]
/ METAL CAP

(COLOUR TO MATCH PANEL)

SEE T26

DMWY Y

REQUIREMENTS:
LEVEL FLOOR OPENING
HEADER MUST BE INSTALLED LEVEL
DOOR JAMB MUST BE PLUMB

VERTICAL SECTION

8" min —4

H— 8" min

RO = WIC + ;"

HORIZONTAL SECTION

@ HINGED DOOR IN INSULATED METAL PANEL WALL

o Airfoam Industries Ltd oo
o‘o 19402 56 Ave, Surrey, BC V3S 6K4 KOROLITE® INSULATED METAL PANELS ® 20210809
[ Phone: (604) 590-2876 Standard Details NTS 85" x 11"
=01 YYYY-MM-DD Revisions

Fax: (604) 590-8412

a. am www.airfoam.com

ey h e s o i HINGED DOOR IN INSULATED METAL PANEL WALL |« T K402

T OF T S 0 RESEARCH A NDERSTAND SAEEMETHO0S OF USE o




KOROLITE INSULATED

INSIDE FREEZER METAL WALL PANEL

e
7 //// ///
///////////

// 8/[203mm] E / " ,FI',“IS/rﬁDOF:EﬂNG/,’%ﬂ"/‘ /

G2 27

/@.////,/ J
o, & s // // FINISHED OPENING PLUS 12" [305mm]

\<\

HEAT TRACE IN
CONCRETE APRON

PLAN VIEW

NTS

KOROLITE INSULATED
METAL WALL PANEL

EXPANSION JOINT

20" [610mm]

FINISHED FLOOR

KOROLITE EPS FLOOR INSULATION OR EQ. AS SPECIFIED
EXTEND 2'-0" [610mm THROUGH ROUGH OPENING AS INDICATED

SECTION'A'

NTS

@ CURB AND FLOOR RELIEF AT FREEZER DOORS

2021-06-08 DC

2021-06-09

Airfoam Industries Ltd.| \ oRoLITE® INSULATED METAL PANELS |~

NTS

Y ¢
19402 56 Ave, Surrey, BC V3S 6K4 .
Standard Details
=01 YYYY-MM-DD Revisions

[ ]
Phone: (604) 590-2876
Fax: (604) 590-8412
www.airfoam.com
CURB AND FLOOR RELIEF AT FREEZER DOORS T kaos K403

Airfoam Indu: s Ltd.
THE USER TO COMPLY WITH
" KIMP Typical Details




KOROLITE INSULATED METAL WALL PANEL

CONTINUOUS RELIEF CUT THROUGH
INTERIOR STEEL FACE OF KOROLITE METAL PANEL
LOCATION AS SPEC'D BY STRUCTURAL ENGINEER

SN

TOP VIEW

BEGIN INSTALLATION OF HEX HEAD SCREW

WITH THE SCREW AT THE SLEEVE JOINT FOR

—

/EXTERIOR

ADDED STRENGTH

INTERIOR

STRUCTURAL MEMBER
(BY OTHERS)

=t

ADD LAYER OF SILICONE
TO COVER THE CUT EDGES
AND EXPOSED EPS INSULATION

| S
18 Ga. [1.02mm] GALVANIZED 'Z-CLIP

C/W TWO ROWS OF #14 x 2" [50mm] HEX HEAD
TEK SCREWS WITHOUT WASHER

OR " [16mm] FAB-LOCK @ 24" [610mm] O.C.
TO BE CONFIRMED BY RESIDENT ENGINEER

TWO 1/2 [13mm] BEADS OF CAULKING
// AT EACH PANEL TO PANEL INTERLOCK
FOR EXTERIOR APPLICATION AS INDICATED

2" [50mm] #14 HEX HEAD TEK SCREW
| WITHOUT WASHER OR §" [16mm] FAB-LOCK

1 MID-GIRT DETAIL

NOTE:

TO BE CONFIRMED BY RESIDENT ENGINEER

23"

'Z'-CLIPS MUST BE INSTALLED AT TIME OF PANEL INSTALLATION
80"
(2438 mm)
24" 24" 23"

1" (25.4mm)7# (584 mm)

(610 mm) "' (610 mm) 7 (584 mm) 7 1" @

&
(213 mm)

5.4mm)

@ ELEVATION OF 'Z' - CLIP

TO BE APPROVED

BY A LICENSED STRUCTURAL ENGINEER

o
©
.0‘

Airfoam Industries Ltd.

19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412

www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

STANDARD MID GIRT DETAIL
WITH 'Z' CLIP

2021-06-08
zP

NTS
01 YYYY-MM-DD

K501

" KIMP Typical Details

DC

2021-06-09

8.5"x 11"

Revisions

K501




KOROLITE INSULATED METAL WALL PANEL \

CONTINUOUS RELIEF CUT THROUGH
INTERIOR STEEL FACE OF KOROLITE METAL PANEL

LOCATION AS SPEC'D BY STRUCTURAL ENGINEER \

EXTERIOR

oo o

STRUCTURAL MEMBER
(BY OTHERS)

14 Ga. [1.31mm] GALVANIZED WALL FASTENING
CLIP C/W TWO ROWS OF

#14 x 2" [50mm] HEX HEAD TEK SCREWS
WITHOUT WASHER

OR £" [16mm] FAB-LOCK @ 24" [610mm] O.C.

TO BE CONFIRMED BY RESIDENT ENGINEER
SEE T35

ST

/

ADD LAYER OF SILICONE
TO COVER THE CUT EDGES
AND EXPOSED EPS INSULATION

TWO 1/2 [13mm] BEADS OF CAULKING
AT EACH PANEL TO PANEL INTERLOCK

\

I

FOR EXTERIOR APPLICATION AS INDICATED

-

L

1 MID GIRT DETAIL - WALL FASTENING CLIP

PANEL A

40"

y [1220 mm]
TYP.

NOTE:

WALL FASTENING CLIPS MUST BE INSTALLED AT TIME OF PANEL INSTALLATION

SLOT SIZE DETERMINED BY
FASTENER TYPE. CONFIRM
NECESSITY OF WASHER.

PANEL B

18 Ga. [1.02mm] GALVANIZED WALL
FASTENING CLIP @ 48" [1220 mm] O.C.

@ ELEVATION WALL FASTENING CLIP

TO BE APPROVED
BY A LICENSED STRUCTURAL ENGINEER

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

] Airfoam Industries Ltd.
©
.0‘

19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412

www.airfoam.com

2021-06-08 DC

KOROLITE® INSULATED METAL PANELS | = oo

Standard Details o s

01 YYYY-MM-DD Revisions

MID GIRT DETAIL

WITH WALL FASTENING CLIP

. K502

KIMP Typical Details




KOROLITE INSULATED METAL WALL PANEL

CONTINUOUS RELIEF CUT THROUGH
INTERIOR STEEL FACE OF KOROLITE METAL PANEL
LOCATION AS SPEC'D BY STRUCTURAL ENGINEER

SPECTRUM 2 SILICONE
OR BETTER

5.5" [140mm] OR 6" [152mm]
HEX HEAD TEK SCREW
FOR 4" [101mm] KOROLITE PANELS

BASE TRIM / DRIP CAP (OPTIONAL)

ST

TOP VIEW
BEGIN INSTALLATION OF HEX HEAD SCREW
WITH THE SCREW AT THE SLEEVE JOINT FOR ADDED STRENGTH

'

INTERIOR

%
b

1)L

| S

1 MID-GIRT DETAIL

\ STRUCTURAL MEMBER

(BY OTHERS)

ADD LAYER OF SILICONE
TO COVER THE CUT EDGES
AND EXPOSED EPS INSULATION

18 Ga. [1.02mm] GALVANIZED 'Z'-CLIP
C/W TWO ROWS OF #14 x 2" [50mm] HEX HEAD
TEK SCREWS WITHOUT WASHER

OR £" [16mm] FAB-LOCK @ 24" [610mm] O.C.
TO BE CONFIRMED BY RESIDENT ENGINEER

TWO 1/2 [13mm] BEADS OF CAULKING
/ AT EACH PANEL TO PANEL INTERLOCK
FOR EXTERIOR APPLICATION AS INDICATED

NOTE:
'Z-CLIPS MUST BE INSTALLED AT TIME OF PANEL INSTALLATION
80"
(2438 mm)
. 23" 24" 24" 23" .
1" (25.4mm) 1 (584 mm) 1 (610 mm) 1 (610 mm) f (584 mm) f 1" (25.4mm)
O O O (o] (e} —_
€
& E
w0 ™M
8
O O O (o] (e}

- CLIP

@ ELEVATION OF 'Z'

THIS DETAIL MAY BE USED IN SPECIFIC CIRCUMSTANCES
AT MID-HEIGHT WHEN WALL EXCEEDS 30ft [9.1m] IN HEIGHT

TO BE APPROVED
BY A LICENSED STRUCTURAL ENGINEER

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

] Airfoam Industries Ltd.
©
.0‘

19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412

www.airfoam.com

Standard Details

KOROLITE® INSULATED METAL PANELS | =

STANDARD MID GIRT DETAIL
THROUGH BOLT WITH ‘'Z' CLIP

2021-06-08 DC

2021-06-09

NTS 8.5"x 11"

01 YYYY-MM-DD Revisions

K503

KIMP Typical Details




18 Ga. [1.02mm] PANEL CUP

@7"x12"x§“ [178mm x 305mm x 16mm] DEEP
c/w 1" [25mm] SLOT FOR ADJUSTMENT
SEE T27

FILL VOID AROUND CARRIAGE BOLTS

WITH CAULKING ‘\

BLUESKIN MEMBRANE
TO COVER PANEL JOINT
(VAPOR BARRIER)

/

34" [10mm] CARRIAGE BOLTS
CIW NUTS & J4" x2" [13mm x 50mm]
FENDER WASHERS @ 24" [610mm] O.C.

26 Ga. [0.55mm] 8" [203mm] METAL CAP
(COLOUR TO MATCH PANEL)
SEE T26

SPECTRUM 2 SILICONE
OR EQUAL (TYP.)

NOTE:

N M,

” ‘ Hiiiiny,

TWO }4" [13mm] BEADS
OF CAULKING FOR
EXTERIOR APPLICATION

12 Ga. 'Z' CLIPS

SEE T24

PANEL JOINT

#12x1 Y, [32mm] TEK SCREWS
@16" [406mm] O.C.

'Z'-CLIPS MUST BE INSTALLED AT TIME OF PANEL INSTALLATION

@ STACKED PANEL CONNECTION

STRUCTURAL STEEL ANGLE

/ KOROLITE INSULATED METAL PANEL

C/W SLOTS FOR 3/8" [10mm] CARRIAGE BOLTS

MIN. 2"x3"x3" [50mm x 76mm x 6mm]

(BY OTHERS)

STRUCTURAL MEMBER
(BY OTHERS)

TO BE APPROVED

BY A LICENSED STRUCTURAL ENGINEER

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08

KOROLITE® INSULATED METAL PANELS | =

Standard Details

STACKED PANEL DETAIL

=01 YYYY-MM-DD Revisions

K504

KIMP Typical Details

K504




KOROLITE INSULATED
METAL CEILING PANEL

26 Ga. [0.55mm] EDGE COVER
SEE FLASHING DETAIL T3

C/W#8-18 PAN HEAD SCREWS @12" [305mm] O.C. \

MINIMUM 1/8“ [3mm] THERMAL BREAK

\

WHITE SILICONE SPECTRUM 2 OR EQUAL (TYP.)

WHITE SILICONE SPECTRUM 2
OR EQUAL (TYP)

KOROLITE INSULATED /
METAL WALL PANEL

T
PR o Y £
I
% BUTYL
| O — SEET1

26 Ga. [0.55mm] HEMMED INSIDE CORNER TRIM
C/W #8-18 PAN HEAD SCREWS @12" [305mm] O.C. (TYP.)

@ FREEZER WALL TO CEILING PANEL CONNECTION

KOROLITE INSULATED
METAL CEILING PANEL

26 Ga. [0.55mm] EDGE COVER
C/W#8-18 PAN HEAD SCREWS
@12" [305mm] O.C.

SEE T3 \

MINIMUM %" [6mm] THERMAL BREAK

SPRAY FOAM AS REQUIRED

WHITE SILICONE SPECTRUM 2
OR EQUAL (TYP)

KOROLITE INSULATED
METAL WALL PANEL

VAPOR TAPE

WHITE SILICONE SPECTRUM 2 OR EQUAL (TYP.)

BUTYL

SEE T1

26 Ga. [0.55mm] HEMMEDINSIDE CORNER TRIM
C/W #8-18 PAN HEAD SCREWS @12" [305mm] O.C. (TYP.)

@ COOLER WALL TO CEILING PANEL CONNECTION

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

FREEZER AND COOLER WALL TO CEILING
PANEL CONNECTION

2021-06-08

zP

NTS

01 YYYY-MM-DD

K601

" KIMP Typical Details

DC

2021-06-09

8.5"x 11"

Revisions

K601




CONCRETE CEILING

NUT

SILICONE CAULKING AROUND ROD UNDER PLATE

TOP PLATE18 Ga. [1.02mm] 6"x6" [152mm X 152mm]
SEE T19

=

[P L PR v VAT T W R P Ve e e Ve R e W) P g T | Pt V)

DROP-IN ANCHOR 33" x 1%," [10mm x 38mm]

AS EXAMPLE ONLY (HANG AS PER SPECIFICATIONS)

REDI-ROD C/W NUTS & WASHERS

END TO END PANEL JOINT (EXAGGERATED)

#8-18 PAN HEAD SELF-TAPPING SCREW (TYP.)

TWO 3/8“ [10mm] BEADS OF CAULKING

i_o o - d-g-a
;
i
:
£
;
i

WHITE SILICONE OR EQUAL (TYP.)

18 Ga. [1.02mm] 3 74" x 12" [98mm x 305 mm]
STEEL CEILING HANGER

C/W 1" [25 mm] SLOT FOR ADJUSTMENT
SEE T18

1" [25mm] :

KOROLITE INSULATED
METAL CEILING PANEL

4" [100mm] OR 6" [152mm] WHITE SNAP CAP
SEE T17

DOUBLE NUT

@ COOLER CEILING HANGER IN CONCRETE DECK

o
©
.0‘

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Airfoam Industries Ltd.

19402 56 Ave, Surrey, BC V3S 6K4
Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

Standard Details

COOLER CEILING HANGER IN CONCRETE DECK | 2

01 YYYY-MM-DD Revisions

KIMP Typical Details

2021-06-08 DC

KOROLITE® INSULATED METAL PANELS | =

NTS 8.5"x 11"




SILICONE CAULKING AROUND ROD UNDER PLATE

TOP PLATE18 Ga. [1.02mm] 6"x6" [152mm X 152mm]

KOROLITE TYPE Il EPS AROUND REDI-ROD TO

DROP-IN ANCHOR 3" x 15" [10mm x 38mm]
AS EXAMPLE ONLY (HANG AS PER SPECIFICATIONS)
CONCRETE CEILING

REDI-ROD C/W NUTS & WASHERS

SPRAY FOAM IN CAVITY

END TO END PANEL JOINT
(EXAGGERATED)

#8-18 PAN HEAD SELF-TAPPING SCREW (TYPICAL)

SEE T19

ONE 3/8" [10mm] BEAD OF CAULKING
6"x6"x16" [152mm x 152mmx406mm]

PREVENT FROST BUILD-UP

0 PP PR TR ) P Tt Ve

]

KOROLITE INSULATED
METAL CEILING PANEL

ONE " [10mm] BEAD OF CAULKING

4" [100mm] OR 6" [152mm] WHITE SNAP CAP
SEE T17

WHITE SILICONE OR EQUAL (TYP.) 1" [25mm]

DOUBLE NUT

18 Ga. [1.02mm] 3 74" x 12" [98mm x 305 mm]
STEEL CEILING HANGER

C/W 1" [25 mm] SLOT FOR ADJUSTMENT
SEE T18

@ FREEZER CEILING HANGER IN CONCRETE DECK

o
©
.0‘

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

2021-06-08 DC

Airfoam Industries Ltd.| \«yo) \TEe INSULATED METAL PANELS | -

19402 56 Ave, Surrey, BC V3S 6K4 o

Phone: (604) 590-2876 Standard Details NTS T esar

501 YYYY-MM-DD  Revisions
Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd. ——
FREEZER CEILING HANGER IN CONCRETE DECK | s
K603

/AND HANDLING OF THESE PRODUCTS. KIMP Typical Details




ANGLE IRON

2" x2"x 3" [50mm X 50mm 6mm]
ATTACHED TO TRUSSES (BY OTHERS)

SILICONE CAULKING AROUND ROD UNDER PLATE

TOP PLATE18 Ga. [1.02mm] 6"x6" [152mm X 152mm]
SEE T19

PP e VP eV —

TV | o o o | e e | Pt V| e | o o o o | o o Lo P e Ve e

J& C CLAMP
REDI-ROD C/W NUTS & WASHERS

ST

ONE 3/8“ [10mm] BEAD OF CAULKING

WHITE SILICONE OR EQUAL (TYP.)

18 Ga. [1.02mm] 3 74" x 12" [98mm x 305 mm]
STEEL CEILING HANGER

C/W 1" [25 mm] SLOT FOR ADJUSTMENT
SEE T18

END TO END PANEL JOINT
(EXAGGERATED)

ONE 3/8“ [10mm] BEAD OF CAULKING

/ : f : KOROLITE INSULATED

SEE T17

1" [25mm] :

DOUBLE NUT

METAL CEILING PANEL

#8-18 PAN HEAD SELF-TAPPING SCREW (TYPICAL)

4" [100mm] OR 6" [152mm] WHITE SNAP CAP

@ COOLER CEILING HANGER - ANGLE IRON C CLAMP

Airfoam Industries Ltd.

19402 56 Ave, Surrey, BC V3S 6K4

{ ]
Y ¢
e
Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS
Standard Details

COOLER CEILING HANGER
ANGLE IRON C CLAMP

2021-06-08

zP

NTS

01 YYYY-MM-DD

K604

KIMP Typical Details

Revisions




ANGLE IRON

2" x2"x 3" [50mm X 50mm 6mm]
ATTACHED TO TRUSSES (BY OTHERS)

SILICONE CAULKING AROUND ROD UNDER PLATE
TOP PLATE18 Ga. [1.02mm] 6"x6" [152mm X 152mm]
SEET19

KOROLITE TYPE Il EPS AROUND REDI-ROD TO
PREVENT FROST BUILD-UP
6"x6"x16" [152mm x 152mmx406mm]

SPRAY FOAM IN CAVITY

END TO END PANEL JOINT
(EXAGGERATED)

et

ONE 3/8“ [10mm] BEAD OF CAULKING

WHITE SILICONE OR EQUAL (TYP.)

18 Ga. [1.02mm] 3 74" x 12" [98mm x 305 mm]
STEEL CEILING HANGER

C/W 1" [25 mm] SLOT FOR ADJUSTMENT
SEE T18

[

KOROLITE INSULATED

S

SEE T17

1" [25mm]

DOUBLE NUT

;s C CLAMP
REDI-ROD C/W NUTS & WASHERS
o

\ METAL CEILING PANEL
4" [100mm] OR 6" [152mm] WHITE SNAP CAP

#8-18 PAN HEAD SELF-TAPPING SCREW (TYPICAL)

/ ONE 34" [10mm] BEAD OF CAULKING
7

@ FREEZER CEILING HANGER - ANGLE IRON C CLAMP

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08

KOROLITE® INSULATED METAL PANELS | =

Standard Details .

01 YYYY-MM-DD

FREEZER CEILING HANGER
ANGLE IRON C CLAMP

K605

KIMP Typical Details

Revisions




AIRCRAFT CABLE FOR SEISMIC RESTRAINTS
7" [178mm] - %" [2mm]
FOR LOCATION AND DIRECTION SEE CEILING PLAN

THIMBLE ¢" [2mm]

TOP PLATE

18 Ga. [1.02mm] 6"x6"
[152mm X 152mm]
SEE T19

SILICONE CAULKING
AROUND ROD AND UNDER
PLATE

TWO LOOPS AT OWSJ\/

RIZE KL150
KWIK-LOCCLIP

ANGLE IRON
2"x2"xY," [50mm x 50mm x 6mm]

C CLAMP

REDI-ROD C/W NUTS & WASHERS
,/ UBS 45° BRACKET

%6" - 2'x3" [8mm x 50mm x 76mm]

END TO END PANEL JOINT
(EXAGGERATED)

#8-18 PAN HEAD SELF-TAPPING SCREW (TYPICAL)

ONE 3/8“ [10mm] BEAD OF CAULKING

\
)
\

[

KOROLITE INSULATED METAL PANEL j

ONE 3/8 [10mm] BEAD OF CAULKING

WHITE SILICONE OR EQUAL (TYP.)

STEEL CEILING HANGER

18 Ga. [1.02mm] 3 74" x 12" [98mm x 305 mm]
C/W 1" [25 mm] SLOT FOR ADJUSTMENT
SEET18

1" [25mm] :

KOROLITE INSULATED CEILING PANEL

4" [100mm] OR 6" [152mm] WHITE SNAP CAP
SEE T17

DOUBLE NUT

COOLER CEILING HANGER - ANGLE IRON C CLAMP

1

SEISMIC

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
© Copyright 2021 Airfoam Industries Ltd.

www.airfoam.com
IT1S THE RESPONSIBILITY OF THE USER TO GOMPLY WITH AL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS | =

Standard Details

COOLER CEILING HANGER

ANGLE IRON C CLAMP - SEISMIC

2021-06-08 DC

NTS 8.5"x 11"

01 YYYY-MM-DD Revisions

K606

KIMP Typical Details




ONE CONTINUOUS 1/2 [13mm]
BEAD OF CAULKING UNDER
GALVANIZED CHANNEL

ROOFING MEMBRANE
PARAPET METAL FLASHING SEE T22

%" [19mm] PLYWOOD SPACER
FASTENED WITH SELF TAPPING SCREWS

METAL FASCIA SEE T23

18 Ga. [1.02mm] PANEL CUP @
4" x 12" x%" [100mm x 305mm x 16mm]

DEEP C/WA ONE INCH SLOT FOR ADJUSTMENT
SEE T18

FILL VOID AROUND CARRIAGE
BOLTS WITH CAULKING

3/8“ [10mm] CARRIAGE BOLTS C/W NUTS

&%4" x 2" [13mm x 50mm] FENDER WASHERS
@ 24" [610mm] ON CENTRE

18 Ga. [1.02mm] CONTINUOUS 2" [50mm] OFFSET STRIP
C/W #8-18 PAN HEAD SCREWS @12" [305mm] ON CENTRE
SEE T20

ADHERE ROOFING MEMBRANE TO PANEL

WITH CONTINUOUS BEAD OF LAP JOINT SEALER
BY ROOFING CONTRACTOR

(ENSURE COMPLETE AND CONTINOUS SEAM)

SPECTRUM 2 SILICONE
OR EQUAL

TWO %" [10mm] BEADS OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED METALPANEL

\\ /A

AN

NN

U
FILL VOID BETWEEN WALL
PANEL & ROOF INSULATION
WITH SPRAY POLYURETHANE
FOAM

KOROLITE EPS ROOF INSULATION

12 Ga. 'Z' CLIPS C/W SLOTS

FOR %" [19mm] CARRIAGE BOLTS
C/W NUTS & WASHERS

@24" [610mm] O.C.

SEE T24

STRUCTURAL STEEL ANGLE

MIN. 2'x3"X¥;" [50mm x 76mm x 6mm]
BY OTHERS

STRUCTURAL MEMBER
BY OTHERS

NOTES:

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED
ROOFING PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.
3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL

ALL MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

1 EXTERIOR WALL PARAPET CONNECTION

OPTION 1

26 Ga. [0.55mm] CONTINUOUS GALV. CHANNEL
C/W #8-18 PAN HEAD SCREWS @ 1
SEE T4
y——
ki THERMAL BREAK REQUIRED
& FOR FREEZER ONLY - FIELD
CUT BY INSTALLING CONTRACTOR

2" [305mm] O.C.

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

KOROLITE® INSULATED METAL PANELS | =
Standard Details e

2021-06-08

01 YYYY-MM-DD Revisions

EXTERIOR WALL PARAPET CONNECTION o m

K701

OPTION 1

KIMP Typical Details




ONE CONTINUOUS 1/2" [13mm] BEAD OF CAULKING
UNDER GALVANIZED CHANNEL

ROOFING MEMBRANE

PARAPET METAL FLASHING SEE T22

ADHERE ROOFING MEMBRANE
TO PANEL WITH CONTINUOUS
BEAD OF LAP JOINT SEALER BY
ROOFING CONTRACTOR
(ENSURE COMPLETE AND
CONTINOUS SEAM)

18 Ga. [1.02mm] PANEL CUP @
4" x 12" x&" [100mm x 305mm x 16mm] DEEP
C/W 1" [25mm] SLOT FOR ADJUSTMENT
SEE T18

FILL VOID AROUND CARRIAGE
BOLTS WITH CAULKING

3/8" [10mm] CARRIAGE BOLTS

CIW NUTS & J4" x 2" [13mm x50mm]
FENDER WASHERS @ 24" [610mm]
ON CENTRE

26 Ga. [0.55mm] 4" [100mm]
METAL CAP

(COLOUR TO MATCH PANEL)
SEE T17

SPECTRUM 2 SILICONE
OR EQUAL

TWO 34" [10mm] BEADS OF
CAULKING FOR EXTERIOR
APPLICATION

KOROLITE INSULATED
METAL WALL PANEL

.

NN

26 Ga. [0.55mm] CONTINUOUS GALV.CHANNEL
C/W #8-18 PAN HEAD SCREWS @ 12" [305mm] O.C.
SEE T4

THERMAL BREAK REQUIRED
FOR FREEZER ONLY - FIELD
CUT BY INSTALLING CONTRACTOR

FILL VOID BETWEEN WALL
PANEL & ROOF INSULATION
WITH POLYURETHANE

\,
|

[

NOTES:

N

W/\///ﬂu/// A2

KOROLITE ROOF INSULATION

12 Ga. 'Z' CLIPS

C/W SLOTS FOR %" [19mm] CARRIAGE BOLTS
C/W NUTS & WASHERS @ 24" [610mm] O.C.
SEE T24

STRUCTURAL STEEL ANGLE

MIN. 2'x3"X¥;" [50mm x 76mm x 6mm]
BY OTHERS

STRUCTURAL MEMBER
BY OTHERS

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED
ROOFING PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.
3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL ALL
MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

1 EXTERIOR WALL PARAPET CONNECTION

OPTION 2

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

www.airfoam.com

2021-06-08

KOROLITE® INSULATED METAL PANELS | =

Standard Details .

01 YYYY-MM-DD

EXTERIOR WALL PARAPET CONNECTION

K702

OPTION 2

KIMP Typical Details

Revisions




ONE CONTINUOUS 1/2“ [13mm]
BEAD OF CAULKING

UNDER VAPOR BARRIER AND
ON TOP OF PLYWOOD SPACER

ONE CONTINUOUS 1/2“ [13mm]
BEAD OFCAULKING UNDER
GALVANIZED CHANNEL
METAL FASCIA SEE T23
ROOFING MEMBRANE

FILL VOID AROUND CARRIAGE
BOLTS WITH CAULKING

TOP OF WALL METAL DRIP EDGE
SEE T21

3/8“ [10mm] CARRIAGE BOLTS
C/W NUTS &1/2" [13mm] FENDER WASHERS

@ 24" [610mm] ON CENTRE ——— |

%“ [19mm] PLYWOOD SPACER
FASTENED WITH SELF TAPPING SCREWS

18 Ga. [1.02mm] CONTINUOUS 2" [50mm] OFFSET STRIP
C/W #8 PAN HEAD SCREWS @ 12" [305mm] O.C.
SEE T20

ADHERE ROOFING MEMBRANE
TO PANEL WITH CONTINUOUS
BEAD OF LAP JOINT SEALER BY
ROOFING CONTRACTOR
(ENSURE COMPLETE AND

SPECTRUM 2 SILICONE

TWO 3/8“ [10mm] BEADS OF CAULKING
FOR EXTERIOR APPLICATION

KOROLITE INSULATED
METAL WALL PANEL

(L

26 Ga. [0.55mm] CONTINUOUS GALV. CHANNEL
C/W #8-18 PAN HEAD SCREWS @ 12" [305mm] O.C.
SEE T4

FILL VOID BETWEEN WALL PANEL &
ROOF INSULATION WITH
POLYURETHANE (BY OTHERS)

—t

S0 ?v// 71000007707,

N\
Z|
KOROLITE EPS ROOF INSULATION
L
DRILL THROUGH ANGLE @ 24" [610mm] O.C.
THEN THROUGH BOLT PANEL
(BY OTHERS)
[aainS

CONTINOUS SEAM) — | ‘ ‘
STRUCTURAL STEEL ANGLE
| MIN. 2'x3"X¥;" [50mm x 76mm x 6mm]
(BY OTHERS)
OR EQUAL STRUCTURAL MEMBER

BY OTHERS

NOTES:

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED ROOFING
PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.
3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL ALL
MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

1 EXTERIOR WALL PARAPET CONNECTION

NO PARAPET

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08 DC

KOROLITE® INSULATED METAL PANELS | =
Standard Details o s

01 YYYY-MM-DD Revisions

EXTERIOR TOP OF WALL CONNECTION -

K703

NO PARAPET K703

KIMP Typical Details




ROOFING MEMBRANE\

ROOF INSULATION

TTTT
RN
d
R
L

%
Y 4
4 B
rzzzzzt]

/ / //D & Z

=

CONTINUOUS 18 Ga. [1.02mm]
2" [305mm] Q-DECK CLOSER PLATE
SUPPLIER T.B.D.

FLUTE FILLER TO BE INSTALLED AT TIME OF
ROOF CONSTRUCTION

MINIMUM 4'-0" [1219mm] ON EITHER SIDE OF
COOLER WALL (BY OTHERS)

SPECTRUM 2 SILICONE OR EQUAL (TYP.)

KOROLITE INSULATED METAL /
WALL PANEL A

/—\.
LAY

SOFT SPRAY FOAM EQUAL TO PANEL R VALUE (TYP.)

18 Ga. [1.02mm] SLOTTED L ANGLE

C/W #8-18 PAN HEAD SCREWS @ 24" [610mm] O.C.
START/END 12" [305mm] O.C.

FASTEN SECURELY TO CEILING AND LOOSELY TO WALL
SEE T6A

OPTIONAL 3/8“ [10mm] BEAD OF CAULKING
FOR COOLER APPLICATION OR AS SPECIFIED

ONE %" [10mm] BEAD OF CAULKING FOR
EXTERIOR APPLICATION

\

NOTES:

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED
ROOFING PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.
3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL ALL
MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

TOP OF WALL AT ROOF Q-DECK (COOLER)

1

PARALLEL TO Q-DECK

] Airfoam Industries Ltd.

.o‘o 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
© Copyright 2021 Airfoam Industries Ltd.

www.airfoam.com
IT1S THE RESPONSIBILITY OF THE USER TO GOMPLY WITH AL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08

KOROLITE® INSULATED METAL PANELS |
Standard Details

zP

NTS

01 YYYY-MM-DD Revisions

TOP OF WALL AT ROOF (COOLER) —_—
PARALLEL TO CORRUGATED METAL DECKING

KIMP Typical Details




ROOFING MEMBRANE \

ROOF INSULATION

FLUTE FILLER TO BE INSTALLED AT TIME OF
ROOF CONSTRUCTION

MINIMUM 4'-0" [1219mm] ON EITHER SIDE OF
COOLER WALL (BY OTHERS)

SPECTRUM 2 SILICONE OR EQUAL (TYP.)

KOROLITE INSULATED METAL /
WALL PANEL

SOFT SPRAY FOAM
EQUAL TO PANEL R VALUE
(TYP.)

18 Ga. [1.02mm] SLOTTED L ANGLE

C/W #8-18 PAN HEAD SCREWS @24" [610mm] O.C.
START/END 12" [305mm] O.C.

FASTEN SECURELY TO CEILING AND LOOSELY TO WALL
SEE T6A

:

\

OPTIONAL 3/8“ [10mm] BEAD OF CAULKING
FOR COOLER APPLICATION OR AS SPECIFIED

\

ONE 3/8 [10mm] BEAD OF CAULKING FOR
EXTERIOR APPLICATION

NOTES:

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED ROOFING
PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.

3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL ALL
MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

1 TOP OF WALL AT ROOF Q-DECK (COOLER)

PERPENDICULAR TO Q-DECK

.0 Airfoam Industries Ltd.
'o‘ 19402 56 Ave, Surrey, BC V3S 6K4

i Phone: (604) 590-2876

Fax: (604) 590-8412
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd.
IT IS THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

2021-06-08 DC

KOROLITE® INSULATED METAL PANELS | =
Standard Details e

01 YYYY-MM-DD

2021-06-09

8.5"x 11"

Revisions

TOP OF WALL AT ROOF (COOLER) -~
PERPEN. TO CORRUGATED METAL DECKING

K705

" KIMP Typical Details




ROOFING MEMBRANE \

VAPOR BARRIER TO ISOLATE
ROOMS AND PREVENT HEAT &

MOISTURE MIGRATION
ROOF INSULATION

(|

/ /
//g g 7 V%zm

=

18 Ga. [1.02mm] - 12" [305mm] Q-DECK
CLOSER PLATE BY OTHERS

FLUTE FILLER INSULATION TO BE

INSTALLED AT TIME OF ROOF CONSTRUCTION
MINIMUM 4'-0" [1219mm] ON EITHER

SIDE OF COOLER WALL (BY OTHERS)

SPECTRUM 2 SILICONE OR EQUAL (TYP.)

KOROLITE INSULATED METAL /
WALL PANEL

\ SOFT SPRAY FOAM

EQUAL TO PANEL R VALUE
(TYP.)

18 Ga. [1.02mm] SLOTTED L ANGLE

C/W #8-18 PAN HEAD SCREWS @ 24" [610mm] O.C.
START/END 12" [305mm] O.C.

FASTEN SECURELY TO CEILING AND LOOSELY TO WALL

SEE T6A

EXTERIOR APPLICATION

\
\

NOTES:

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED ROOFING
PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.
3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL ALL
MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

TOP OF WALL AT ROOF Q-DECK (FREEZER)

1

PARALLEL TO Q-DECK

EXPANDED POLYURETHANE SPRAY FOAM
MIN 48" [1219mm] WIDE (BY OTHERS)

OPTIONAL 3/8" [10mm] BEAD OF CAULKING FOR
COOLER APPLICATION OR AS SPECIFIED

ONE %“ [10mm] BEAD OF CAULKING FOR

o
©
.0‘

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

Airfoam Industries Ltd.

19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412

www.airfoam.com

KOROLITE® INSULATED METAL PANELS | =
Standard Details

NTS

TOP OF WALL AT ROOF (FREEZER)
PARALLEL TO CORRUGATED METAL DECKING

K706

2021-06-08

01 YYYY-MM-DD

KIMP Typical Details

Revisions




ROOFING MEMBRANE \

ROOF INSULATION

IR
N
e
N

FLUTE FILLER INSULATION TO BE
INSTALLED AT TIME OF ROOF CONSTRUCTION
MINIMUM 4'-0" [1219mm] ON EITHER

SIDE OF COOLER WALL (BY OTHERS)

SPECTRUM 2 SILICONE OR EQUAL (TYP.)

KOROLITE INSULATED METAL /
WALL PANEL

S|

me \ SOFT SPRAY FOAM )

EQUAL TO PANEL R VALUE
(TYP.)

18 Ga. [1.02mm] SLOTTED L ANGLE

C/W #8-18 PAN HEAD SCREWS @ 24" [610mm] O.C.
START/END 12" [305mm] O.C.

FASTEN SECURELY TO CEILING AND LOOSELY TO WALL

SEE T6A

MIN 4' THICK (BY OTHERS)

\

EXTERIOR APPLICATION

NOTES:

1. ROOFING CONTRACTOR TO FOLLOW RECOGNIZED ROOFING
PRACTICE FOR THE TYPE OF INSULATION USED.

2. ROOFING DETAIL TO BE CONSIDERED WITH EACH PROJECT.
3. ROOFING CONTRACTOR TO SUPPLY AND INSTALL ALL
MATERIALS REQUIRED.

4. VAPOR BARRIER REQUIRED FOR FREEZER APPLICATION.

TOP OF WALL AT ROOF Q-DECK (FREEZER)

1

PERPENDICULAR TO Q-DECK

OPTIONAL 3/8“ [10mm] BEAD OF CAULKING
FOR COOLER APPLICATION OR AS SPECIFIED

ONE 3/8 [10mm] BEAD OF CAULKING FOR

EXPANDED POLYURETHANE SPRAY FOAM

o
©
.0‘

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING

THE USE OF THESE PRODUCTS. IT IS
AND HANDLING OF THESE PRODUCTS.

Airfoam Industries Ltd.

19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876

Fax: (604) 590-8412

www.airfoam.com

FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

KOROLITE® INSULATED METAL PANELS |

PERPEN. TO CORRUGATED METAL DECKING

2021-06-08
zP

NTS

Standard Details

01 YYYY-MM-DD

TOP OF WALL AT ROOF (FREEZER)

K707

KIMP Typical Details

Revisions




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
HEMMED EDGE
WHITE
r SURFACE FOR ALL INSIDE HORIZONTAL & o
T'] Y INSIDE 26 ga. [0.55mm] VERTICAL CORNERS WHITE PAN HEAD
L 1" [12.5mm] CORNER HEMMED SCREW
3 TRIM 1 FASTENER SCREW PER FOOT ON
X
Y EACH LEG
X
HEMMED EDGE
I
v 5 #3-18
t=+ 2" [12.5mm]
T2 L - mm SSE‘E'EE %6 aaE I\EIOMssénm] FOR OUTSIDE VERTICAL CORNERS WHITE P AR HEAD
! P TRIM 1 FASTENER SCREW PER FOOT ON SCREW
« suniTE EACH LEG
-
L =+ 3" [12.5mm]
m
ware L/ | FOR OUTSIDE HORIZONTAL & VERTICAL
X “ CORNERS #8-18
T3 SURFACE EDGE 26 ga. [0.55mm] WHITE PAN HEAD
HEMMED EDGE COVER HEMMED
1 FASTENER SCREW PER FOOT ON SCREW
EACH LEG
Y
X
HEMMED EDGE g
3 PERIMETER WALLS - COOLERS
T OPENINGS FOR DOOR CAPS
T T U 26 ga. [0.55mm] #8-18
T4 Y v CHANNEL HEMMED 1 FASTENER SCREW PER FOOT ON WHITE PAN HEAD
L EACH LEG SCREW
v y ANCHORS TO CONCRETE @24" O.C.
WHITE
X SURFACE
@ Airfoam Industries Ltd. o
Y ¢ KOROLITE® INSULATED METAL PANELS z

a1 foam

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876
Fax: (604) 590-8412

www.airfoam.com

Standard Details

TRIM AND FLASHING

NS
01 YYYY-MM-DD

K801

" KIMP Typical Details

85" x 11"

Revisions

K801




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
T PERIMETER WALLS - COOLERS yo1s
OPENINGS FOR DOOR CAPS -
T4A v CHAllleEL SPEéISFIED WHITE PAN HEAD
! QL 1 FASTENER SCREW PER FOOT ON SCREW
R} EACH LEG
« ANCHORS TO CONCRETE @24" O.C.
1 FASTENER SCREW PER FOOT ON 46-18
T5 BASE 26 ga. [O.55mm] EACH VERTICAL LEG WHITE PAN HEAD
ANGLE HEMMED SCREW
v ANCHORS TO CONCRETE @24" O.C.
WHITE X
SURFACE
1 FASTENER SCREW PER FOOT ON 4818
T5A M BASE 18 ga. [1 .31 mm] EACH VERTICAL LEG UNPAINTED PAN HEAD
ANGLE GALV. SCREW
ANCHORS TO CONCRETE @24" O.C.
X X
X "
L 18 ga. [1.31 1 FASTENER SCREW PER FOOT ON #8-18
T6 ANGLE ga. [1.31mm] Lot UNPAINTED PAN HEAD
v GALV. SCREW
@ Airfoam Industries Ltd. o
.00 KOROLITE® INSULATED METAL PANELS z 20210000
19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876
Fax: (604) 590-8412

a1 foam

© Copyright 2021 Airfoam Industries Ltd.

www.airfoam.com

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

Standard Details

TRIM AND FLASHING

NS
01 YYYY-MM-DD

K802

" KIMP Typical Details

85" x 11"

Revisions

K802




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
"4
# X — i~
#8-18
T6A v SLOTTED 18 ga. [1 .31 mm] 1 FASTENER SCREW PER FOOT ON WHITE PAN HEAD
L ANGLE EACH LEG SCREW
-
HEMMED EDGE CEILING PANEL JOINTS
#8-18
T7 WHITE 26 ga. [0.55mm] | 1 FASTENER SCREW PER FOOT ON WHITE PAN HEAD
SURFACE x BATTON HEMMED EACH VERTICAL LEG SCREW
¥ ¥ 12.5mm) TRIM
— "]
X l’b
X
WHITE SURFACE
HEMMED FREEZER FLOOR PANEL JOINTS
EDGE #8-18
T7A BATTON 20 ga. [1.00mm] | 1 FASTENER SCREW PER FOOT ON WHITE PAN HEAD
TRIM HEMMED EACH LEG SCREW
# X #
[
Sb ¥ (12.5mm]
CEILING PANEL JOINTS
9" [229mm] WIDE REVERSE ANGLE HEMMED BATTON #3818
CONTINUOUS 26 ga. [0.55mm]
T7B < \jﬁ JOINING HEMMED 1 FASTENER SCREW PER FOOT ON WHITE ng:;xD
1776.35mm] \WH”E = BATTON EACH LEG
SURFACE g
9" [229mm] f
@ Airfoam Industries Ltd. o
X Y KOROLITE® INSULATED METAL PANELS 2
. 19402 56 Ave, Surrey, BC V3S 6K4

Phone: (604) 590-2876
Fax: (604) 590-8412

a1 foam

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

www.airfoam.com

Standard Details

TRIM AND FLASHING

NS
01 YYYY-MM-DD

K803

" KIMP Typical Details

85" x 11"

Revisions

K803




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
QV
EXTERIOR BASE TRIM AT EXTERIOR
#8-18
T1 5 > BASE TRIM 26 ga. [0.55mm] WALLS WHITE PAN HEAD
DRIP CAP HEMMED 1 FASTENER SCREW PER FOOT ON SCREW
EACH LEG
g(
#8-18
T16 | COUNTER 26 ga. [0.55mm] | AT BASE OF EXTERIOR WALLS WHITE ot o
FLASHING HEMMED
1 FASTENER SCREW @6" O.C. SCREW
j AT BASE OF INTERIOR PANEL WALLS so1s
DRIP 26 0a. [0.55mml | WHERE PANEL SITS ON BEVELED CURB -
T16A * FLASHING STAINL£5S | 1FASTENER SCREW @12'0.C, SS P
STEEL FOOD PROCESSING FACILITIES AND
N WET ENVIRONMENTS
BASE TRIM 26 ga. [0.55mm]
T16B DRIP CAP HEMMED
@ Airfoam Industries Ltd. o
Y KOROLITE® INSULATED METAL PANELS »

al fo

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

© Copyright 2021 Airfoam Industries Ltd.

Phone: (604) 590-2876
Fax: (604) 590-8412

www.airfoam.com

Standard Details

TRIM AND FLASHING

NS
01 YYYY-MM-DD

K804

" KIMP Typical Details

85" x 11"

Revisions

K804




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
REDI-ROD
6" SQUARE TOP PLATE KOROLITE®/
SEE T19 INSULATED
METAL CEILING
T17 PANEL
&
1/
T18 = C CHANNEL & SNAP CAP ASSEMBLY - ILLUSTRATION
=
& 508 - oo
g
e e
C CHANNEL T18 | SNAP CAP T17
|
¥ 112.5mm] —o 26 ga. [0.55mm] | CONTINUOUS WHITE pAﬁ,SJgAD
HEMMED
T17 SNAP CAP SNAPS OVER C CHANNEL SCREW
X , X ¥
3" [76.2mm]
W X -2 [19.05mm] 4'-0" ON CENTRE
S : c 18 ga. [1.31mm] GALV #8-18
T18 % CHANNEL GALV. FOUR FASTENERS PER CHANNEL : PAN HEAD
“’%ﬁ/ BLOCK SEGMENT SCREW
X
1" [26.4mm] x5" [11.1mm] CENTRED e
#— 6" [152mm] —¢ #8-18
& TOP
) _ PLATE 18 Q%EL'\B; MM | PART OF GEILING HANGER ASSEMBLY GALV. PAN HEAD
T19 H#— 6" [152mm] —# : SCREW
® Airfoam Industries Ltd. o
Xy KOROLITE® INSULATED METAL PANELS z 0210600
. . 19402 56 Ave, Surrey, BC V3S 6K4 R - e
[ 4 Phone: (604) 590-2876 Standard Details NTS 85" x 11"
Fax: (604) 590-8412 - 01 YYYY-MM-DD Revisions
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd. =T
15 THE RESPONSIBLTY OF THE USER 0 CONPLY T AL APPLCABLE REGULATINS AND BULOING CODE REQUIEHENTS CONGERNAG TRIM AND FLASHING Keos
K805

THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

" KIMP Typical Details




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
§ Cg;l[ﬁgl”l]gbs 18 ga. [1.31mm] | AT EXTERIOR FACE OF WALL PANELS #8-18
T20 l OFPSET STRID GALY AT BASE AND OR TOP OF PANEL GALV ng;EEv/\*lD
p XA
T AT TOP OF EXTERIOR WALL - WHERE 4818
TOP OF WALL | 26 ga. [0.55mm] | PANEL )
T21 . METAL DRIP ﬂE,\[,lMED T MEETS BUILT UP ROOF - NO PARAPET WHITE ngggxt’
L EDGE REFERENCE KEPS DETAIL #2.05
1 VARES ﬂ AT TOP OF EXTERIOR WALL
. . TOP OF WALL WHERE PANEL MEETS BUILT UP ROOF #8-18
T22 j METAL DRIP 26 ga. [0.55mm] |  WITH PARAPET WHITE PAN HEAD
T . EDGE HEMMED SCREW
g—; E—; AT PARAPET REFERENCE KIMP DETAIL #2.03 & 2.04
= >
A
& oP OF AT TOP OF EXTERIOR WALL WHERE 4818
@ PANEL MEETS BUILT UP ROOF -
= METAL FASCIA HEMMED SCREW
AT PARAPET REFERENCE KIMP DETAIL #2.03
A/ 7% 3" [12.5mm]
@ Airfoam Industries Ltd. o
Yy KOROLITE® INSULATED METAL PANELS 2
. 19402 56 Ave, Surrey, BC V3S 6K4 - e . )

a1 foam

© Copyright 2021 Airfoam Industries Ltd.

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE

AND HANDLING OF THESE PRODUCTS.

Phone: (604) 590-2876
Fax: (604) 590-8412

www.airfoam.com

Standard Details

TRIM AND FLASHING

01 YYYY-MM-DD

K806

" KIMP Typical Details

Revisions

K806




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED

-5 AT INSIDE TOP OF EXTERIOR WALL
WHERE PANEL MEETS BUILT UP ROOF

WITH PARAPET CARRIAGE

BOLTS

> ZCLIP 12 ga. [2.75mm]
GALV ALSO AT STACKED PANEL JOINT GALV.

REFERENCE DETAIL #2.03 &
DETAIL 4.07
SLOTS FOR CARRIAGE BOLTS

124

TEK
SCREWS

GALV GALV. PAN HEAD
REFERENCE DETAIL #2.03 SCREW

FAB-LOK
AT TOP OF EXTERIOR WALL
T25 > ZCLiP 18 ga. [1.31mm] | BEHIND METAL FASCIA #8-18

R
-\_
/ E TO COVER PANEL CONNECTOR T0 48-18
T26 J 3 METAL 26 ga. [0.55mm] | (PANEL CUP) AT STACKED PANEL JOINT |  MATCH PAN HEAD
CAP HEMMED PANEL SCREW
REFERENCE DETAIL #4.07
L
* 3" CARRIAGE
PANEL CONNECTOR (PANEL CUP) BOLTS c/w
WITH TWO 1" SLOTS FOR ADJUSTMENT NLjTS &
T27 N PANEL 18 ga. [1.31mm] | AT STACKED PANEL JOINT GALV. 2"
CuP GALV FENDER
REFERENCE DETAIL #4.07 WASHERS
@ 24" ON
N CENTER
@ Airfoam Industries Ltd. o
.00 KOROLITE® INSULATED METAL PANELS z 20210000
. 19402 56 Ave, Surrey, BC V3S 6K4 . e seersae
[ ] Phone: (604) 500-2876 Standard Details NTS B&mAt
Fax: (604) 590-8412 - 01 YYYY-MM-DD Revisions
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd. e
TRIM AND FLASHING
e K807




TRIM PRODUCT PRODUCT GAUGE WHERE COLOUR | FASTENERS
LABEL DESCRIPTION USED
T28 T J SUPPORT 18 ga. [1.31mm] TO CONNECT PANEL TO HEADER GALV. #8-18
GALV PAN HEAD
SCREW
Fx —F
—
b AT TOP OF EXTERIOR WALL BEHIND
T34 4| -+ REVERSE 26 ga. [0.55mm] METAL FASCIA TO #8-18
k X > CHANNEL HEMMED MATCH PAN HEAD
~ REFERENCE DETAIL #2.03 PANEL SCREW
N /k
T v
ﬁ % WALL WALL FASTENING CLIP
T35 i d FASTENING | 92, 12.00mm] GALV 716" DIA.
N cLIP GALV. PRE-DRILL %" DIA. HOLES FOR ' FAB-LOCK
FAB-LOCK FASTENERS
JH X —
NOTES:
- Tolerances: +/- 0.02 [0.5mm] for XY dimensions and +/- 0.12" [3mm] for length.
- Where specified, all hems are % [12.5mm]
- All galvanized steel complies with ASTM A653
® Airfoam Industries Ltd. o
.00 KOROLITE® INSULATED METAL PANELS 2 20210600
. 19402 56 Ave, Surrey, BC V3S 6K4 . - e
[ ] Phone: (604) 500-2876 Standard Details e Bamar
Fax: (604) 590-8412 - 01 YYYY-MM-DD Revisions
www.airfoam.com
© Copyright 2021 Airfoam Industries Ltd. ==
TRIM AND FLASHING K808
K808

IT 1S THE RESPONSIBILITY OF THE USER TO COMPLY WITH ALL APPLICABLE REGULATIONS AND BUILDING CODE REQUIREMENTS CONCERNING
THE USE OF THESE PRODUCTS. IT IS FURTHER THE RESPONSIBILITY OF THE USER TO RESEARCH AND UNDERSTAND SAFE METHODS OF USE
AND HANDLING OF THESE PRODUCTS.

" KIMP Typical Details




	Panel Profiles
	Base of Wall
	Corners and T-walls
	Openings
	Mid-Wall (Girt) Connections
	Ceilings
	Parapet / Top of Wall
	Trim and Flashing

